
Elektriker  
Ledningsmodstands formler 

 

𝜌𝜌 = 𝑟𝑟𝑟𝑟ℎ = 𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑟𝑟𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙 𝑙𝑙𝑟𝑟𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑚𝑚𝑚𝑚𝑙𝑙𝑙𝑙𝑙𝑙 =  
Ω · 𝑙𝑙𝑙𝑙2

𝑙𝑙
 

�𝑚𝑚𝑓𝑓 𝑘𝑘𝑟𝑟𝑘𝑘𝑘𝑘𝑙𝑙𝑟𝑟 0,0175 
Ω𝑙𝑙𝑙𝑙2

𝑙𝑙 � 

 

𝑅𝑅𝑙𝑙 = 𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑟𝑟𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙/Ω 

𝑙𝑙 = 𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙æ𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙/𝑙𝑙 

𝑆𝑆 𝑙𝑙𝑙𝑙 𝑞𝑞 = 𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙æ𝑟𝑟𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙/𝑙𝑙𝑙𝑙2 

 

𝑅𝑅𝑙𝑙 = 𝜌𝜌·𝑙𝑙
𝑆𝑆

  𝜌𝜌 = 𝑅𝑅𝑙𝑙∗𝑆𝑆
𝑙𝑙

  𝑙𝑙 = 𝑅𝑅𝑙𝑙∗𝑆𝑆
𝜌𝜌

  𝑆𝑆 = 𝜌𝜌·𝑙𝑙
𝑅𝑅𝑙𝑙

 

 

Omregnet tværsnit fra diameter, d, til tværsnittet S 

 

𝑆𝑆 = 𝜋𝜋
4

· 𝑙𝑙2 𝑙𝑙 = �
𝑆𝑆
𝜋𝜋
4

  

 

 

 

 

 

 

 


